L A

o % Ko %

/20
Wy dxicfflL, UTo&FELELZTEE, yExoATRLEI W,
Dx=-20tEy=-16 ©x=—-280& Ey=—7 Wx=—-120 ¢ Zy=15 ©x=8nD & Xy=5
@ x=—63D & xy=—81 Dx=8n & Ey=—18 @x=18D & ¥y=063 Wx=50& Ey=—15
@x=420 & Xy=—48 ®x=24D & Xy=56 Bx=20k Xy=—18 Bx=—20& Xy=4
@x=—120 & Xy=2 D x=—5D& Ey=—7 @x=18D & Xxy=—30 ©x=—64D L Zy=—24
B®x=—-5D& Ey=35 W x=49D & Fy=—42 B x=35D & Xy=42 @ x=—30D & Xy=—54




o % Ko %

LA

Wy ldxicltfll, DToFEMZEHZTEE y 2 x DX TRLAR I W,

Dx=-20tEy=-16
y =ax ¢35
—16 =—2a
a=38

y =8x

@x=—63D % 2y=—381
y =ax &¢35¢&

—81 =—63a
a2
7
9
Y=

@ x=420 & ETy=—48
y =ax ¢35
—48 =42a

a8
7

Dx=—-120 & Ey=2
y =ax &35¢&
2 =—12a

B®x=-50& Exy=35
y =ax &35
35 =—5a

a=-—7

©x=—-280& Ey=—7
y =ax L32¢&
—7 =—28a

_ 1
a=

1
y=r

@D x=8n & xy=-18
y =ax L3 5¢
—18 =8qa

-_9
a 4

9
y=ogx

®x=240 & Ey=56
y =ax L32¢&

56 =24a
ae L
3
_ 7
y= g

@Dx=—-5D& Ey=—7
y =ax t35¢
—7 =—5aqa

.
5

7
V= *

Wx=49D & Ty=—42
y =ax t35¢&
—42 =49q

S
7

6
y=- ¥

Wx=—-120 ¢ Zy=15
y =ax t32¢&

15 =—12a
__5
a 4
5
Y=o x

@x=18D & &¥y=63
y =ax &3 5¢

63 =18a
_ 1
a=7
7
y=o*

Bx=20 L Ey=—18
y =ax t32¢&
—18 =2a
a=-9

y =—9x

@Wx=180 & Xy=—30
y =ax &3 5¢
—30 =18a

-
3

5
y=T3x

B x=35D & Ey=42
y =ax t32%&

42 =35a
ae b
5
6
Y=

/20

0 x=8nD & Ey=5
y =ax ¢35

-
8

5
y=gr

Wx=5p& Ey=—15
y =ax &¢35¢%
—15 =5q

a=-3

y =—3x

B x=—20& Fy=4
y =ax ¢35

©x=—64D L Zy=—24
y =ax &35¢%
—24 =—64a

-
8

3
y=gr

@x=-30D & Ty=—54
y =ax &3 5%¢&

—54 =—-30a
a2
5
_ 9
y= g




